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S2

S1

(S1 + S2 + S3) · 2 

Площадь полной 
поверхности

ab bc ac+ +(                                        ) · 2 

Sпол.пов. = (ab +bc +ac) · 2 

S3



S10,05

0,038

0,015

0,05

0,05

0,05

0,015

0,015 0,015

0,038

0,038
0,038

S2S3

Sпол.пов. = (S1 + S2 + S3) · 2 =               

= (ab  + bc  + ac) · 2   

S1 = 0,05 · 0,015 =  0,00075  (м2)

S2 = 0,015 · 0,038 =  0,00057  (м2)

S3 = 0,05 · 0,038 =  0,0019  (м2)

Sп.п. = (0,00075 + 0,00057 + 0,0019 ) · 2 =               0,00322 · 2 = 0,00644 (м2)           
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